EE230 Collaborative Problem Solution Lecture 19

Given: f(t) =2t for-1 <t <1, and repeating outside those limits
Find:  The middle 3 complex Fourier Series coefficients ., Co, and ¢;
Hint:  [te%dt = ie“t — a—lze“t

Loa‘l-s l\\u. a s awrtooth LI&%C»M: AR

b\{ \asPCffh"\

"o = = 2—"
\"Tgu)#(*\) -JQ A{’ T2 T

.
L]

-2

= _Lg Z.(»é""ﬂoht
-S4 ot

4 oamt L ’JT‘* 1 e
-y 3w ¢ (;ﬂz

e vl e
—Y;e/’a('\\ffwl rliﬂ? /1

(8 |
"L—J,_r,O

C,=c¢ct :} 4 0.637 = 6.637 (1°°

13

“

n

L1

Electrical & Computer Engineering, Virginia Military Institute COL Squire



